2 (2000) AFRIOHEEH] 2 (2400) ZEH L XA ALS O &F:(2410) == - XA Mg (2411) AL H = 2e) HIAIE: (120) 3 & & ZH| (2] [ 3]
ok = 7S I R == ] m}
G & = 0 x
Xt BB MIE HIMIE = of & o = A 2
2000 [=2 19,144,500 % 28,491,904 X 0 & 46,921,000]
NS PSR s 94,557,404 90,107,412 4,449,992 [D] 0o = 0 0 ]
2400 [2 19,144,500 & 28,491,904 X 0 & 46,921,000]
FEHQI T A AFS| D £ Y| 94,557,404 90,107,412 4,449,992 [D] 0 = 0 0 ]
2410 [=2 19,144,500 % 28,491,904 X 0 & 46,921,000]
=& . XA 94,557,404 90,107,412 4,449,992 [D] 0o = 0 0 ]
2411 [= 0 & 8,829,660 X| 0 =& 33,798,000]
AL X AL 42,627,660 55,748,600 A 13,120,940 [D] 0 = 0 0 ]
100
3 A0 A 219,660 216,600 3,060
120
A A A 219,660 216,600 3,060
201
B2 AH| 76,800 76,800 0
76,800 76,800 0/01 Yer2 A
o Bt 2H| = 15,000
o2yt = 46,200
o g &H| = 15,600
202
o1l 43,200 43,200 0
43,200 43,200 0|01 =2LHAHI
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1(2000) AFSIOHEHI 241 (2400) FEHL RIS ASIOHY &H:(2410) 8 - XA Mg (2411) A 8 Mg NIAIE: (210) E R A Y [E2E][ER: ]

]2

L = S == S i}
of &b &t = Jl =
I 2 S MIE. NIMIE =2 O]l A oH = A 2
200 [=2 0 & 8,610,000 X 0 & 33,798,000]
AHSS Ol A 42,408,000 55,532,000 A13,124,000] [J| 0 2 0 o 0 ]
210 [= 0 & 2,500,000 X 0 & 33,798,000]
BXALY 36,298,000 28,602,000 7,696,000 [2I 0 = 0 0 ]
202
o H 3,100 3,100 0
3,100 3,100 001 2LH0iH|
oY ERA 22| = 3,100
() 3,100
308
XX EH S 24,900 24,900 0
o1&
24,900 24,900 001 MHXSHMBAABES
SN MEIRA 22| (4A12) = 24,900
() 24,900
401
NE=LE =] 14,500,000 3,000,000 11,500,000
CHH
13,886,000 2,915,000 10,971,000(01 Al&H]
O R HAET2 AH4 = 5,640,000




Z:(2000) AbBIOHEEHI 241 (2400) LRI AFSI NS BF:(2410) 4 - XA N8t (2411) A & & =4 2| HIKIBt: (210) 8 E ALY EENEGR-E
2
ot = o A o PSS = im} " = ) =
.2 E NS AAE =2 o & % = A 2
(2) 5,640,000
o0k =B E 2 HA 8,246,000
(=) 2,500,000
(2) 5,746,000
ZAHH = 5,746,000
(2) 5,746,000
2 A = 2,500,000
590,000 77,000 513,000/02 2 2IH]
oW2Y HATR AM = 350,000
(2) 350,000
o IOk =B E2 AHM = 240,000
(2) 240,000
24,000 8,000 16,000/03 Al& = CHHI
oW2Y HATZ AA = 10,000
(2) 10,000
oIJIOkA =B8R AHM = 14,000
(2) 14,000
403
MXSHS 21,770,000 25,574,000|  A3,804,000
A=01A




Z:(2000) AbBIOHEEHI 241 (2400) LRI AFSI NS BF:(2410) 4 - XA NIBt: (2411) A8 & 2 prp| HIAIE: (210) 8 R AL EENESER-ED
2 = S IS R == S )
ol & o ok E5 Ol ES
.2 E NS AAE =2 o & % = A 2
21,770,000 19,574,000 2,196,000|01 XtXISHHI A= 2 =
CHLEXX TR HLAY (3AIZ) = 18,232,000
(2) 18,232,000
COHLME TS AHEA AXI((4A2)
216,000, 0002 x50% = 108,000
(2) 108,000
L ME PSS FOIXIRAAL (BAIT) 3,430,000
(2) 3,430,000
ZFAl 600,000,000&/x70% = 420,000
(2) 420,000
242 300,000,000&/x70% = 210,000
(2) 210,000
S| 4,000,000,000&4x70% = 2,800,000
(2) 2,800,000
220
KERIAF 6,110,000 26,930,000/ 20,820,000
403
MXSHS 6,110,000 26,930,000/ 20,820,000
X201 ™
6,110,000 26,930,000| ~20,820,000/01 XtXISHHHEEX
oZAXHLXIAMNLY 400,000,000 x 50% = 200,000




Z:(2000) AFZIOHEEHI 2:(2400) FEHRLAXIAALSIOHE &F:(2410)F - XA Mg (2411) A 8 Mg NIAIES: (220) KR ALY [E2E][ER: ]

L = Hod | oy i}
ol & o b 2 Il ES
T2 NE. HAE = o & M = oA Y

NS AYS XY2(S 1-17)

600,000,0008 x 50% = 300,000
o283 S MHE2 400,000,0009 x 50% = 200,000
o35S BUF Y2 HIF

200,000,0008! x 50% = 100,000
CSEE ZYZTIHE AX(HHOIIIE )

500,000,0008! x 50% = 250,000
oEstE CRHM 60,000,000&! x 50% = 30,000
oSES T2HA 200,000,0009 x 50% = 100,000
oftd 3438 XYR B 300,000,000 x 50% = 150,000
oli® 265 TAIHECR 400,000,0009 x 50% = 200,000
ofME 232 A 400,000,000 x 50% = 200,000
o TG ~ DHARZE TAIHEE

400,000,0002 x 50% = 200,000
oER SHEA(Y 1-335) 400,000,0009 x 50% = 200,000
oREE CRHA 300,000,0008! x 50% = 150,000
o3 S TAHEER 600,000,0009 x 50% = 300,000
oEH A BSTIH 400,000,000 x 50% = 200,000
oS0t AAL TAIHEEZ 400,000,0009 x 50% = 200,000
oZg TAIZEE FH 260,000,0009 x 50% = 130,000
S ZANIHQIMAMAT T ABH I

1,000,000,0008 x 50% = 500,000
odd HE - FEHYN C2EIF

200,000,0008! x 50% = 100,000




% (2000) ARSI H I 2 (2400)F LK QHAFSI RS 3:(2410) S - XN Mg (2411) A8 F 2 Bl RIAI B (220) Xt H A S (23] 8]
L = S == S i}
o & = & & 8] ES
e = o A % = oA
o4lB32 ZTAIHES 400,000,0008 x 50% = 200,000
oSH32 TAIHEER 400,000,0002 x 50% = 200,000
cHFM MY I 400,000,0008 x 50% = 200,000
oXE @2l TAHSEZ  400,000,0008 x 50% = 200,000
oHYW - BN TANEZZ
200,000,0008! x 50% = 100,000
SFA(A 2-8) TAIHYEZ = 200,000
CHYS PAIZ ONOIIIEZ SAIHECE = 200,000
oA ZHAZY T2IHE  600,000,0008 x 50% = 300,000
oFn MY TERHA 400,000,0002 x 50% = 200,000
oHoE TANEEZ 400,000,0008 x 50% = 200,000
oYX TAHHECR(ZE 2-NYE 633)
200,000,0002 x 50% = 100,000
cYXg MHEZZ HA 200,000,0002 x 50% = 100,000
CTHSSH VYT HEH(ZX)
400,000,000 x 50% = 200,000
2412 [= 18,488,500 & 18,433,110 X 0 2 13,123,000]
el A2 50,044,610  32,449,400| 17,595,210 [JI 0 = 0 0 ]
100
= PPN, 47,460 47,600 A 140
120
Z A=A 47,460 47,600 A 140




X1 (2000) AbSI N BH:(2400) = EH LRI AFS| N BF:(2410) €4 - KR HIgt: (2412) =E4 T Al 2+2) HIHIE: (120) 2 AR A b EENEER-E)
i, = 7SI = R = R Im]
o & = & & 8] ES
a2 & NE L MAE =2 off &b oA = A
201
bt A H| 23,060 23,200 A 140
23,060 23,200 A140]01 YBr2YY|
ot 2H| = 6,000
o9 ACt = 8,400
o Z 2| = 8,660
202
04 bl 22,000 22,000 0
22,000 22,000 0101 2LHN I
OFEC Al HRFZ = 22,000
203
e p=E=pNl 2,400 2,400 0
2,400 2,400 003 AlZEZXIQDFZAIH|
OFEHCAIYREX 200,000 x 128 = 2,400
200 [= 18,488,500 & 18,385,650 X 0 & 13,123,000]
A Off AF 49,997,150 32,401,800 17,595,350  [2I 0 =2 0 0 ]
210 [= 18,488,500 & 13,181,150 X 0 & 13,123,000]
BRAIS 44,792,650 27,028,500 17,764,150  [2 0 =2 0 0 ]
403
XX SHS 44,792,650 27,028,500 17,764,150
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1(2000) AFSIOHEHI 241 (2400) FEHL RIS ASIOHY &H:(2410) 8 - XA NIgt: (2412) FE = Al 22 NIAIE: (210) E R A Y (=3[ dE]

ok = %S IS IR == e m}
O]l At o At = Il =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
ol ™
44,792,650 27,028,500 17,764,150 |01 XX SR A28 =
o CAIFHEA MM ALY (45K 2)
26,246,000,0008 x 65% = 17,059,900
(%) 3,936,900
() 13,123,000
oc=(E0IE2 dt2=& FUIAIS (22012) = 27,732,750
(=) 18,488,500
(%) 9,244,250
220
KR AFSS 5,204,500 5,373,300 A 168,800
308
XSS 10,000 0 10,000
ol
10,000 0 10,000(01 XXSHBAE XS
CHEHMAE AT AlY 10,000
ESfSES 5,000,0002 x 17|12 = 5,000
L 3,000,000& x 12|& = 3,000
At 2,000,0002 x 17|12 = 2,000
403
KX SIS 330,000 481,800 A 151,800
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2 (2000) AFRIOHEEH] 2 (2400) ZEH L XA ALS O &F:(2410) == - XA KISt: (2412) Z=EH G Al 42| Mg : (220) REMIAFS [(2H] [ :HH]
ok = 7S I R == ] m}
of &b oH A 2 ol =
Xt BB MIE HIMIE = of & ¥ = A 2
20| ®
270,000 481,800 A211,800/01 AXIEHAE2E X
osHE HANAEN MY 240,000
oUAGE SMTA X4
2,000,000 x 30= x 50% 30,000
60,000 0 60,000(02 SIS0 CHSHCHE A HI
oHE=MAY BEAALY [= 60,000
501
== 4,864,500 4,891,500 A 27,000
4,864,500 4,891,500 AN27,000102 S32J1243A2
oSHE ST Y
30,000,000& x 1,081= x 15% 4,864,500
2413 [= 656,000 = 867,654 K| 0o = 0]
K& 2| 1,523,654 1,428,012 95,642 [D] 0o = 0 0 ]
100
A A 56,801 58,901 A2,100
110
o1 8,541 8,541 0
101
el 8,541 8,541 0
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X (2000)AFSIJHEEH] B (2400) Z=EHL X S AFSI NS B (2410) AR MIEH: (2413) X & 2 2] HIAIE: (120) 2 AH X 2 ) | & 2]
2 = e A m)
Al ol H| mi Al = ol
I 2 S MIE. NIMIE =2 Ab oH = A 2
ENE=RI=INE=E=FY] 2,400
200 [=2 656,000 & 810,853 Xl 0 0]
AHSS Ol AF 1,466,853 1,369, 111 97,742 [J| 0 = 0 0 ]
210 [= 656,000 &= 408,000 Xl 0 0]
BXAIY 1,064,000 562,200 501,800 [ 0 =2 0 o 0 ]
308
KX SIS 1,064,000 502,200 561,800
o1&
1,064,000 502,200 561,800|01 XXIESHHMAAESE2
ocXEEREX AL 112,500,00024x40% = ,000
(=) ,000
oC2H U AHESHS ROAY 000
(=) 000
(%) ,000
AFAY 600,000,000 x 50% 300,000
(2) ,000
(%) ,000
EHAFALS 1,438,000,0002 x 50% 719,000
(=) ,000
(%) ,000
220
KR AFSS 402,853 806,911 404,058
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X1 (2000)AFEIJHEEH] 24 (2400) UK AFSINY &F:(2410) =4 - K& HI&t: (2413) K1 = 2+2) HIKIE : (220) RERIAFES EENEERED
ot = P I = H ml
Ol Ab oH & = Il =
& 2.8t HIE M AIE =2 of A | = A 2
207
o o e 120,000 0 120,000
100,000 0 100,000/01 22
oEFHUT X2IBBAIAH(GIS) J2HE = = 100,000
20,000 0 20,000(02 & ARJHEHH]
CIHHZAIXIDF DiE2E B AAE S/W 2L = 20,000
308
XXISHS 267,853 426,911 A 159,058
0| &
267,853 426,911 A159,058 01 KIXIGHHPABE2
OXMAMAIZ QAR AlAH 7,000
ESESES 3,000,000&x17|2 = 3,000
SRS 2,000,000 x 27| = 4,000
oT A, Bote D1E=E EXE=R
300,000,000 x 30% = 90,000
ORI BRIAIAE D= 152,687
CEUANS 4,0002 x 69,9420H x 30% = 83,931
EX0ISKIZ2A 3002 x 763,95500 x 30% = 68,756
S HM E A A} 20,184,000 x 3AIZ x 30% = 18,166
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5 (2000) ALBI NI B (2400) FSHUTIGALSI N 8 (2410)FE - XX Mg (2413) X R 22 HIKIE : (220) KR AL RS ELNERRE)
L = Hod | oy i}
o & = & & 8] ES
X BB NIEMIAIE = of A | = oA 2
405
Xt &HE S| 15,000 380,000 365,000
15,000 380,000 A365,000(01 XAt S E S S|
COHEZAIX I DlRigers BelAlAd &y 7 = 15,000
2414
NI=J\B=E 8,500 12,200 A3,700
100
2 A0 A 8,500 12,200 A3,700
120
A AN AY| 8,500 12,200 A3,700
201
U st o | 3,900 6,200 A2,300
3,900 6,200 A2,300(01 Ler22y|
o2l = 2,700
oZa| = 1,200
202
of Hl 4,600 6.000 A1,400
4,600 6,000 A1,400(01 2LHOHHI
oM AIHEALY EX = 4,600
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& (2000) AFSIOHEH] 201 (2400) FEHL XIS AFSIOHE &F:(2410) & - XA Mg (2415)HHSA=SE T AIAH MAMISE: (220) XA AF 2] [ AH]
ok = 7S I R == ] m}
Of & 9 & = | x=
Xt BB MIE HIMIE = of & ¥ = A 2
220
XA AN 199,560 346,000 A 146,440
101
o124 d| 52,560 196,000 AN 143,440
52,560 196,000 N143,440110 LAIAIE 12
o a2t & X JIEZXZAXEH 52,560
201
Qut2AH| 97,000 150,000 A53,000
97,000 150,000 AB3,000(01 LBt AH|
o bt 2H| 84,000
oA 29 13,000
207
o Ol ek y| 50,000 0 50,000
50,000 0 50,000|01 Y|
oHMHT A HA, XASH s ARRA 50,000
N = & H 94,557,404 90,107,412 4,449 992
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